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e $L202347 RERTERID SIS (BL) WRETA T

R R 55| | kg | R ERRS
FUIRE 1 LS B 5k 80.47
HwREY 2 LY EE SR 92.22
B iR 3 e T 5 kv 80.35
HwREY 4 L B 5k 88.52
FHwiREY 5 ¥ EE5R 90.37
FHwiREY 6 Il iR AP 84.94
HwREY 7 LS B 5k 85.72
HUREY 8 i B 5k 85.21
BB 9 e B 5 89.51
FHwiREY 10 Il iR AP 83.44
BURES 11 LY RSP RTE 88.58
HwREY 12 LS B 5k 85.41
FHwiREY 13 Il iR AP 83.17
HWREY 1 N EE5%R 86.25
HWREY 2 INEE B 5k 81.35
B UIREY) 3 N S 83.18
B WREY 4 N B 5k 87.22
B UIREY) 5 N R SR 79.49
B UIREY) 6 N SR ASPE T 86.85

%10 3K

N

I




TR IR P

‘A HR) 355 B wWEZR |  WEFER TSR #ZIE
B UIREY) 7 N SERC SRS 80.63
B UIREY) 8 N SERC SRS 84.58
B UIREY) 9 N SERC SRS 74.23
B UIREY) R INEE EE5%h R
B UIREY) R INEE EE5%h R
B UIREY) R INEE EE5%h R
B UIREY) R INEE EE5%h R
FEUREY) 1 ¥ uNE 85.36
FEUREY) 2 Gl =] 82.48
FEUREY) 3 Gl =] 81.22
FEUREY) 4 Gl =] 86.22
FEUIREY) 5 Gl =] 84.10
FEUIREY) 6 Gl =] 82.04
FEUIREY) 7 Gl =] 85.53
FEUIREY) 8 Gl =] 85.41
FEUIREY) 9 Gl =] 85.24
B=URE D 10 ks e 84.82
B=URE D 11 ks e 85.89
B=URE D 12 ks e 81.98
B=URE D 13 ks e 84.64
B=URE D 14 ks e 86.94

H20, K7W




T 1 2

JBF

‘A HR) 355 B wWEZR |  WEFER TSR #ZIE
B=URE D 15 ks e 85.60
B=URE D 16 ks e 77.91
B=URE D 17 ks e 84.53
B=URE D 18 ks e 79.98
B=URE D 19 ks e 85.11
B=URE D 20 ks e 86.31
B=URE D 21 ks e 88.06
B=URE D 22 ks e 84.51
B=URE D 23 ks e 81.30
FEV U IRE ) 1 N *®E 83.76
FEV U IRE ) 2 N *®E 88.86
FEV U IRE ) 3 N *®E 79.70
FEV U IRE ) 4 N *®E 89.60
FEVUIRE ) 5 N *®E 87.28
FEVUIRE ) 6 N *®E 79.10
FEVUIRE ) 7 N *®E 89.64
FEVUIRE ) 8 N *®E 87.02
FEV U IRE ) 9 N *®E 91.50
FHI W IRE Y 10 N *®E 80.98
EIBIRFE R INEE e B
EIBIRFE R INEE e B
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HiX (RR) T B WEZE W®EER R EER I
FRUIRE Y 1 1 1B 79.98
FRUIRE Y 2 1 1B 87.91
FRUIRE Y 3 1 1B 82.37
FRUIRE Y 4 1 75 86.06
FRUIRE Y 5 1 1B 84.76
FRUIRE Y 6 1 1B 74.99
FRUIRE Y 7 1 1B 85.43
FRUIRE Y 8 1 1B 89.08
FRUIRE Y 9 1 1B 83.76
FRUIRE 10 #)rh TESC 85.22
FBhREY R LY T R
FRUIREY 1 INE B 81.79
FRUIREY 2 INE B 82.33
FRUIREY 3 INE B 86.10
FRUIREY 4 INE B 77.14
FRUIREY 5 INE B 83.47
FRUIREY 6 INE B 87.32
FEAUREY) 1 IS % 79.66
FEAUREY) 2 IS % 87.93
FEAUREY) 3 IS % 88.51
FEAUREY) 1 N R 86.61

BAT, K7W




R ) 55| TS gy | g ERRE | &2
FAUREY) 2 N R 87.52
FEAUREY) 3 N R 89.75
FEAUREY) 4 N R 87.94
FEAUREY) 5 N R 75.25
FEAUREY) 6 N R 84.57
FEAUREY) 7 N R 83.50
FEAUREY) 8 N R 85.72
FEAUREY) 9 N R 88.12
FANUREY 10 N R 89.35
FANUREY 11 N R 87.77
FANVIREY) R N AR R
FANVIREY) R N AR R
FLUIRE 1 L ek 87.48
FLUIRE 2 L ek 87.84
FLUIRE 3 L ek 89.28
FLUIRE 4 L ek 86.96
FLUIRE 5 L ek 86.88
FLUIRE 6 L ek 88.04
FLUIRE 7 L ek 90.20
FLUIRE 8 L ek 87.02
FLUIRE 9 L ek 84.31




TR IR P

‘A HR) 355 B wWEZR |  WEFER [)=95'%5 #ZIE
FHLWREY R ks JE R
FLUREY) 1 N B 83.05
FLUREY) 2 N B 92.34
FLUREY) 3 N B 91.79
FLUREY) 4 N B 84.50
FLUREY) 5 N B 92.22
FLUREY) 6 N PG 90.63
%)\ Y, 1 Gl JJisa 85.92
%)\ Y, 2 Gl JJisa 88.00
%)\ Y, 3 Gl Jisa 82.83
%)\ Y, 4 Gl Jisa 78.11
%)\ Y, 5 Gl Jisa 90.03
%)\, 6 Gl Jisa 92.05
%)\, 7 Gl Jisa 83.08
FIVIREY) 1 Gl EAR 78.55
FIVIREY) 2 Gl EAR 79.99
FIVIREY) 3 Gl EAR 82.38
FIVIREY) 1 N FEAR 77.89
FIVIREY) 2 N FEAR 80.82
FIVIREY) 3 N FEAR 76.84
FEIVIREY) 4 N FEAR 83.79
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T 1 2

JBF

‘A HR) 355 B wWEZR |  WEFER TSR #ZIE
FEIVIREY) 5 N FEAR 84.69
FEIVIREY) 6 N FEAR 85.57
FEIVIREY) 7 N FEAR 80.03
FEIVIREY) 8 N FEAR 78.69
FEIVIREY) 9 N FEAR 80.88
FHILWIREY 10 N FEAR 81.94
FHILWIREY 11 N FEAR 82.51
FHILWIREY 12 N FEAR 85.03
FHILWIREY 13 N FEAR 77.77
FHILWIREY 14 N FEAR 81.94
FHREY 1 Gl H 2 86.12
FHREY 2 Gl H 2 86.35
FHHuiREY R ks e R
HHREY 1 N S 91.47
HHREY 2 N S 83.73
HHREY 3 N S 91.35
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